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1-1. The following decision function (d) has its risk function (R) defined by
parameterizations (6). Then, what should the procedure, d*, be called?

d* = ir(}f{sup[R(e,d)]}

[ZE0)
(A)MinMax rule
(B) McNemar’s test
(C) Rao-Blackwell theorem
(D) Tolerance interval
(E) Cramer-Rao lower bound
(F) Maximum likelihood estimation

1-2. Let 6 be an estimator of @with E(6?) < forall Gand let 6 =E(9|T)
where T is sufficient for 6. Then, forall 6, E(0 -6)? <E(d-6)>. What
should the procedure be called?

(A)MinMax rule

(B) McNemar’s test

(C) Rao-Blackwell theorem
(D)Tolerance interval

(E) Cramer-Rao lower bound

(F) Maximum likelihood estimation



1-3. Let Xy, ..., X,, be a series of i.i.d. observations from Bernoulli (1) where A
is the parameter of distribution. Which of the followings is a sufficient
statistics for A?

(A) X,
(B) X,
©€) 2. X
O ITX,
B) oy
(F) oy,

1-4. The __ condition for T(Xy, ..., X, ) to be sufficient for A is that the
following joint function exists:
f(X1, .o, Xn | @ =9[T(Xq, ..., Xn), €] N(Xy, ..., Xp).
Which should be filled in the blank?
(A)necessary
(B)sufficient
(C)efficient
(D)unbiased
(E) necessary or sufficient
(F) necessary and sufficient
(G)efficient or unbiased
(H)efficient and unbiased

2 (40%’41'5\447\)
T 2 o5 %i:izsf%’#@i%%@"?‘f5'l)§55°

B Let Qc R"and X be ak-dimension random vector with p.d.f. (., 0)
F={f(,0):0 cQ}. Now, for and measurable function g:R* — R, if
E,(X)=0,forall #eQ impliesthat g(x)=0 except possibly on a set
N of x’s such that P,(X e N)=0 forall 8<Q,then F issaid to be “__

(2-1) . Moreover, if
{f( 0): f(.6) = \/_exp{ XZ} 00, oo)}



L E00): (.0 =L exp| - B
Fz—{f(,e).f(,e) mexp[ 5 ]HER}
then F is_(2-2) and F, is_ (2-3) .

M Let X,,j=1---,n beiid. random variables with p.d.f. f(,0),

OcQcR,andlet T:R" = R be a statistic. If the conditional distribution

of (X,---,X,),given T =t,isindependentof & foralmostall t, then
T is*“_(2-4) for &.Especially, if

f(x,0)=

1 exp —X—Z
276 20 |
then _ (2-5) issufficient for 8. And, if

f(x,0) =%exp{— (x _28)2]

then _ (2-6) s sufficient for 6.

B An unbiased statistic for & which is of minimum variance in the class of
all unbiased statisticof & iscall _(2-7) of &.Let X,,j=1---,n be
I.i.d. random variables with p.d.f.

f(x,0) = 0" (1-0)",x {01}
Then > X is__(2-8) for 6.Let X, X,,X, bei.id. random
variables with p.d.f.

f(x,0) = 0" (1-0)",x {01}

Then X, is_ (2-9) for €. Moreover, if T =X, + X, + X,, then
E{X,|T}=_1(2-10) .



g * L) i s i [RE)
Weakly consistent (A) Tg ) 3T (S)
a sufficient statistic (B) complete (K) not complete (T
not a sufficient statistic ©) aUM.P (L) i.i.d. V)
%ZTl X, (D) a decision (M) an M.P. V)
>LXS (E) normal (N) |notaUM.VU. | (W)
> (X = X)? (F) effect ©) | anMLE | 0
a consistent statistic G) E, X, (P) T (Y)
DX (H) | independent | (Q) | aUMVU. | (2

an efficient statistic ()] X, (R)

J%ﬂY:%ZL&

£ 2204 (A0% 0 F3T4A)

3-1. -t ek (ttest) ® >R T A ;;% %

variable ) 5 ?
(A) 7 1 Bp i
B) 7 2 Bp ik
(C) 7 3 Bp %k
(D) 23 fi %k

3-2. f- dnend F]5 & B A 45 (One-way ANOVA) ¥ o 5k T 7 fm & 1
& H ik % (Dependent variable) =2 5 ?

(A) 2} i B
B) 1 ix%Hk
C) } 2 Bix%Hk
(D) 3 %k

£ # g % # (Independent




3-3. - 4xeni Al4p B 4 47 (Canonical correlation analysis) # » 3F# T 7|
H

= igﬁﬁ”

3-4. - drehd A e 4r (Multiple regression) @ o R T SR (3 4

# ix % % (Dependent variable ) =+ ?
(A) & F %t ig

(B) EAg¥ -k

(C) L ¥ %k

(D) Eapw %k

3-5. - Heh t & (ttest) ¥ > 5 T AR F

pr
variable) e+ g ?

(A) 2 2% k&
(B) H_ww

(C) A trix
(D) L% i

36. £ X ¥- B '&3‘;%# % #c ( Random variable ) ¥
functlon) EY

0, x<-1
F(x) = %2, _1<x<1
1, 1<X

1 1
FR OPr(—=<x<2)=?
; ( 5 2)
(A)1
(B)

(€)

Al NP M®

(D)

£ #H p % # (Independent

H & # 3% (Distribution



. X’
3-7. Let X be arandom variable. And, f(x)= expl ——|, —o<X<ow
V187 { 18}

Which of the followings is the variance of X ?
A) 9

(B) o’

€ 3

D) o

3-8. Let X be a random variable. And, f(x)= bi , a<x<b Which of the
-a

followings is the expected value of X?
b-a

A - -

A =

(b-a)’
12
a+b
©
(a+b)?
12

(B)

(D)

3-9. £ X ¥ - B4 % #& (Random variable) > » # 4 # 3 % ( Distribution
function) % :

f(x):f, x=123 F8 f(x)=0

= f(x) £4 %}M:%}iw ( Probability density function ) & f (1) =7
(A)1

(B)O
1
c) =
© 5
1
D) =
(D) 1
3-10. & - 4Pk A iw fF A 45 (Stepwise regression) ¥ o R T A e K
£Hp %"ﬁi (Independent variable ) =+ & ?
(A) = “’ﬁ S p R
(B) %37 2 Bp %k
€ =3 1 Bp %k
(D) 27 A %4
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W F kT PR AT T M RlERE R
-~ RHREARNE

CH - A HD> (EE- P EH2A > £ 104)

" F P A ¢ o ik 3+ (Evidence-Centered Design - i #2 ECD) , £ -+ Mislevy
ATz - RN ooy T LY e il BA RN B
B AP AR LR DT R AN BB AR AT g 0 ECD % SR e 0 E N
PoudmER R BoHER RS UK T RS R 2P 8 T BRES
¥ 2 175" (student model) L4 & — > iRlSk ¢ BT L K AR Ao i SRR -
i % 3 (task model)af*ﬁ Fenli g (e i f ~ R ) T ﬁg" 51
B Es s B A iR B o IR0 (evidence model) ¢ 3 IR AP fopl B BN o 3
SRR U I U ET”:“L%\*FLE ot 2 R niTE Rmd g RE S
B M S SR AR i BT TR RS PR A
b oo e g 5t (assembly model) £ dp B-plER R 2 F R0 SN E R DIT L R g S
- PEE - BEP o § A (presentation model) £ ¥ i iEAp B e B oo Aok
PARERTERTRLES - TE L ECDFE 459 2 BH VAR %o

A\ 4

et

il
u:
o)

v
L.l
SR




l. § KT REHF - KEFZ ’fq«ﬁ:nb“ &Fﬁ’}g—/i‘ TR 2 PR R £ 2
e e ) I L € P2z R
2R ECD e 9
(A)F 2 50
(B) 7 3 i3
(O£ §:%2
(D) & 5

PRI Fop 2L
R PR (S o REFR Y - LEFAAD SRR BAAAAE D o B Y H

Z2 ’L s .
FFE oG RELFEFARA /E}ﬁ“ ECD swi— B o582

(A)F 4 5%
(B) i ¥ #-50
(C)E st

(D);'— Eﬁfh\—}

CEFL o — & % e m

3-?(??3"/‘ )KJ! 7 e % 25 %Qﬁ'g{‘f\?S%é—‘f#F ),{%‘EEL /Plj'%l;g;_‘r_ﬁg 4, H ¢ g

BAH S A A B EF RATR A BA R BB 5 A R A S 2R

) T RERN . . . BpOF e AL
(A)F 2 5%
(B) % 3 i3
(OF2 =
(D) & mpist

4 FEF LT SRl B R B R AR 0 R LU ECD evR— B RS2
(A)5 2 #5¢
(B) ¥ & -5t
() st
(D) & s 5t

5.% #7121 IRT( Item Response Theory) ficst ig 7 ALl A 47 - fah B 4 it 4 > R
% ECD ewmi— B 4582 (i
(A)F 2 5
(B) 17 5 5
(C)z& 5 -5
(D)= & #5



<F - Aa> (rE- o FHEIL 0 £ 184)
w ¥ iR %& I3 (classical test theory ; fj #£ CTT ) S X =T +E & Pre
B R X RARBEAKOTRAEF NS > ELEL -CTT#

SRR A AR
R LS L H 2t e > W p| R 2% (standard error of measurement >

SEM) > M T AN A& g o

SEM =o(1—r)"?
BY o HMAKEEL > rERHG A
R F R IZ % (item response theory, i £ IRT)ezie v &£ PIS IR > 4 & F 07 ¥
55 P(O) F R AT PB P F R E N4 9 FR o F LN Ao T
H %4k logistic $i-7¢ (1PL)

Pi(X =10 7ﬂi): 1i);?((p)9(9_—ﬁ)13)i)

£ %4 logistic #-5¢ (2PL)

P (X =1|6 ,ﬁi’“i): 1jxer>)<(poziofi9_fgiﬁ)i)»

= %% logistic $i£5% (3PL)

Pi(x =10 ’ﬂi’aiJ’i):]’i +(1_7/i)1—i);r))((pozi(,£.0(0_—ﬂiﬂ)_)»
He » X

PR AR R LA EH 0N s
0 P RPBHDELF A -

Brag i i A AT GEAL PELR S0 R Sl BRIR S

IRT %3] & 4 & & e 8 42 % 20 4 3 #e(information function) » 21 & & =

F A A7 i 4 Bhaipl £ 34 (standard error,SE) 2 5% A 40T

G
)o@

1

B P(0):## R0 R(0)d- Mpacs ¢ | ALK -

SE(0) =



6.7 7|vR— B i F_4 > Rasch 7#2%(Rasch family)?
(ACTT
(B)1PL
(C)2PL
(D)3PL

TAck Ay FH G a4 B2 &R g R RMIBZEHR - B 7 A 77
(ACTT
(B)1PL
(C)2PL
(D)3PL

BArk AT KTl RIS AERAS L o B A - AR ?
(A)CTT
(B)1PL
(C)2PL
(D)3PL

9.4t IRT » = 7| fe % £ CTT 2 &2
(A)BC 5 5 52z
(B)LF it 4 3% L
C) &7 3P ki3 R
(D)if * *+ T i {21 5%

10. 4430 — ripl& > T P scit e AL ﬁm7
(A2 CTT @ 2 » % e 4 hR
B) CTT a3 » 2 i it g
C)2IRT A% » 2 i ? et €5 7 o eip| £ R 2EF o
D) IRT ™A% » 2 s ek g5

11502 IPL #5582 41 0 RIS T3 L s 27 7 e 7

A) 1,06 )=P©)a-P(9)

®) 1,(6)=P6)1-P)



© 1,06 )=P©@C-P©®)

(D) 1,(6 )=P(6)*-P(6))’

CHRZ AR (BE- s FRA5A > £ 20 4)

- PRlER SRS If\x';é“'*‘ fE LSRR o T PE R R E A Bz W 25% 0
SRE R R AR (5 OB R B A s B Y 5 AR T 4 A R
AATde T R 0 AR R AR R R PR AT E % 12~19 % -

item group Response Alternatives | Difficulty | Discrimination
index Index
*
A|B|C|D|®|P | A D
1 B A e 0 [36|39|23| 2 |34 | Ay | .04 D
WA 0 [32 |46 |18 | 4
2 BAaw 221211048 8 | P, | Ay | -12 D,
AN 32 25|11 23| 9
3 B A E 16 |15 7 | 62| 0 | P3| A\ Iy D3
AR 36|28 7 |26 3
4 B A 2 119 | 1| 0| Py (1230 1, D4
e e 31 (24|18 | 27| O
5 B A 2 1 (99| 2 |0 |.78| As | .55 Ds
e e 18 112 |54 |16 | O

122 )8 A #5549
(A)400
(B)300
(C)200
(D)100

13;‘4—}?1:3 P2: ?



(A)0.54
(B)0.27
(C)0.25
(D)0.10

14,35 Py= 2
(A)0.88
(B)0.54
(C)0.44
(D)0.36

15,3 D= ?
(A)0.05
(B)0.04
(C)0.03
(D)0.02

16.3 1 Ds= ?
(A)0.55
(B)0.51
(C)0.45
(D)0.41

17.8M ¥ AT geit o 7 7| K
(A)AEf~ 2 TLBF G~ RGN
(B) A& Ai++-13 5] 13 2.
C)AEwRPEF LT ER
D)AEBREEF pEE menEjeg <

18w — REEE R B ® ?
(A)% 248
(B)% 3 4%
(C)% 448
(D)% 538

19.98— REF %] & B if 7



(A)% 531
(B) ¥ 4 4%
€)% 241
(D)% 14

= FEE(rE- - FH24 > £ 524)
20.F] ¢ A MG A RIS 05 & FAnte T B IERIR > SRIHRPERT TR R
R E R Y
(A)E irli
(B)47 % %
(C)Alpha i #c
(D)% =1p B

212 k- R hif§ 2 4 @aniF i A TR E ?
(A) s k77
(B)% # & e
C)p # 2
(D)7 s &

22 % % RPIHE L A L RRIRe 2 A AR A LT K 0
(A)ipl g sk
(B)ip] % 1975 3¢
(C)ipl sk P 45
(D) & crja ¥

23 BAZ B R R - IR B 2R 2 RRIKREA
B enBd th o JE 15 4T A|UR— 3F E 2

(A2 B Ap & 1+

(B) B 48 % A1+
(C)iplzk 5 w1+
(D)~ #cle T i

20,8 5 % BTG RIS (MCAT) ¥ > & FlA$H Rig 3 B ¥ 27
(A) g i d 2 Remip i 8764 Bamu L8 i 4 B eni R4 s

4%
5 %

(B)AER 5 » ARl G v AEN F o RRIRIGE DRI RRE



Cic v RfE g5 7ur kfferns Rranlings it &3
R ,\‘.};‘
(D) s RIFF gL RlFRALEG Rt BIERY 8 -

DR G AR R R AT By RIS S TS 2 TR Z PR
BAFAR %mm«?lwmv JFE S ARV 7 AT 0 RIVR- Kt AR A
1?

(A)FF 4 Bl% = 5 H_3 ] % 7 (predictor variable)

(B)#F# 2% = 5§ H_»xik % 78 (criterion variable)

(OF- - 56?’%\ % § 37 ;p) % 78 (predictor variable)
(D) ~ & 4 jplzk & 4 E_jb > %% (independent variable)

26.8 S RIB AR FH R KR CFLEY RALE 0 vlde TR ERS
PLE TSR SR % ?
(A)® >z i (washback effect)
(B) E.% »z & (Hawthorne effect)
(C)* & »x i (Hallo effect)
(D)3 % F1(John Henry effect)

21 VR E P FXTERAFBHEP nE2 MY RRE > Fla BEFHL R &8
BIEPaRER NS o e T AR IR %7
(A)® ;23 i (washback effect)
(B) Z.%& »z Jis (Hawthorne effect)
(C)* & »z)iz (Hallo effect)
(D)3 % 41> j&(John Henry effect)

28 AFIRTFERE R E A AR S B FRER 2REFL LT p B2 RE Fa
R AT L dapkin o 5T AR ARG 7
(A)® ;L »z s (washback effect)
(B) £.%& »z Jis (Hawthorne effect)
(C)* & »cj; (Hallo effect)
(D)3 3 F13< /& (John Henry effect)

0.5 RKIFEFFHRM M FHRELs 2T ReH e Bhipflegdd 37 137
P BFAd -WBT oomF - BoREZ P LR P LT A ARG T
(A)® ;23 i (washback effect)



(B) E_% »z i (Hawthorne effect)
(C)* & »x i (Hallo effect)
(D)3 % f1»x & (John Henry effect)

30. T FUBE A EE AL IR 2 it 0 vR— B E_ FE D

(A)ip| & %32 P % ehic 4 ko
(B)iginidis » * 2 j

OB adEwagy 4 5 B3 p REH o
(D)% 34 & e 253 At i

3l plHREFE s e P £
(A)Fe B 2% B
(B)Ff #l»%
(C)E H e &
(D) 2

32.@‘i£§&%’£?i%‘j LB A e
F 2 ERZFRER?
(A)Z &5 F 7 5 cipls
B)F & 13557 b 5 % & R
C)F & &:E 7 LRI AR5
(D)% & & {7 T "ot i iRl

BB A TR BT
ez (T o FR T AR
(At TAL A F - R fd
(B)# XAL A ¥ el % 12
C)t LR EF hE 7 12
(D)t TZRAL - RA4L

34iE = JERPF > 312 = ¥k logistic 288 F R4

S T LN FRC S
(A3 B 47 Bkl Az
(B)# 2 47 HeAk i< A% 47

(C) S| & 47 Hcdk F Ak
(D)5 & 4 Hedk 14 A

17 i# * Cronbach’s alpha % #ci% 5 &% #5582 24
F gt v it A ?

P e R g R 27

SRR G F AR 0 T e - R

g

BHCR A T RAL > TR SR AL



35.9%— FEPE AT HA A G & ¥ K AT S B A 2 AL 9
(A)BILOG
(B)MUTILOG
(C)PARSCALE
(D)RUMM

36. % FF ER4F 1‘ Bty 2 JFns o FHRR P BABIIRY S HR e 4
R RLF L e w R u#”ft%ﬁ 2RO R A & - fE A
17 % ?ﬁ*ﬁ‘?%%\ 2% 7
(A) = % dcm 47
(B)% 2 & 47
(C)F1% ~ 47
(D) § & 17

JTFFL A X - PRARRISK > % v B3t 2 535§ % (Likert scale)3z % -
FRERY RETREAPTER?
(AEZ A
)4 % i3 2
(O E:RNZRE;
(D)Cronbach’s« 13 A&

B = F A APl T A EL 522100 2 A EL G THS o F 4 s SRR
154 T A EALE A EERI5 R GRGR ek Rl 7
(A" 2
(B)e £
O 2
D)~ 2

39.7F FR- Jh iRl G R 2 A BRI %R & e 3R - 34 (internal
consistency) ?
(A)d 2 & B
(B)E #l% R
CEF &R
(D)Cronbach’sa 1 #ic



40.- iRl& Y 0 RS RIEREFOM o ?
(A)Z Baxg > plEEERARE
(B)fZ 4% % » B & 58 4% %
C)z R &R EREFZLT M
(D)5 A g ip| & 52350 v BE %

M FeAydrbg* FAZHRLRRFEARFT  SEIRFHME  HFF

PR VA BRI E VR BT R Y
(A)m 7 »x & (content validity)
(B)#E B & (predictive validity)
(C) % %] »x & (discriminant validity)
(D)% _ac»z A (convergent validity )

2.5 4 Fbe— AR PSS LY AP NP, =78 HFRERELW?
(A)BEE P - F 85%=n4 & i1t 78 &
(B)E 4% @ - 4 85%:4 A #cg 78 A
C)ma? > 3 78%:irA & ikt 85 4~
(D)E & ¥ » § 78%:r4 A #ic® *+ 85 A4

43.% iRl e B A0.64 0 T 308100 > RF 2 £ 15 3K 2 Rl iRl £
wgA 509
(A)0. 36
(B)6. 7
(©)9
(D)10

4m&iﬁfwﬁ&ﬂ"%@%?+ LA sl
(B)0.09
(C)0.20
(D)0.45

~

% < (Wechsler) % # plsk 30T 78— fE=g & 54 9
(M%ﬁ%%%i
(B)# - 5-pei=&
(C)7) = =&
(D) gt

i
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1.

Rzt ? vy ~54 - By ormls

?ﬂ%ﬁﬁ%ég

&5—’?@ ‘-%‘?,«/Eﬁiﬁ ;ﬁ%

Kzl
B

WA ERPEE2AL 0 £ 504)

Tl BAENE T Y 0 P 2 (Level)Bo i ?
(A)PASCAL
(B)C+ +
CetiFs
(D)5 s

- A3} e VLSI i&{w’rg; :

(A)= A F TR

(B da &

C)A~ AT B

(D)4 %18

T 7%+ RISC (reduced instruction set computer) 2 CISC(complex instruction)
(A)CISC CPU 7 #u4f s m;%ﬂ

(B)RISC CPU #F FER G :EE

(C)RISC CPU '?;hﬁsfs‘ mz

(D) % $>°F - o * 4258 > & RISCCPU 2 45 4 #p /| ** it % CISC CPU

~3Lﬁ B p
.48 @ §51% # hamming code (4% * 1% #cf~ = & 4 #5) 5 0011000 » # & % L

(A)0100
(B)1010
(C)1000
(D)1001



BAER AND = T[a:ﬁ]%ifﬁx Y355 1o E'J?iﬁﬁéﬁ]t"ﬁ;ﬁ%ﬁﬂﬁf—;

(A)1
(B)0
(C)2

(D)r2 + 3 2b

PR I A E:KJFE,@;_?;;; LR 9

(A) % 4 =
(B)i A
(C)a s

O)» et

— 4 CPU ¥ #/8483 § 45 £ % ¢ B8 7] @ % 5 (flag) ?

(A)iF =
(B) £ 5t
©7

(D) &4

% DMAFHIEpF > ¥ &K
WEARSE o T HVR- B FHIAE
(A)& Zi=ht 73 B

(B iz~ et i ®
(C)kcts ¥ 78 f4

(D) s =~

NT%F%%’@ﬁﬁﬁ?
int fun(int a,int b,int *c)
{a=a+1,;

b=b-+1;

*c=*c+1,

return(a+2);}
void main()
{inta=5,b=6,c=7,d;

d=fun(a,b,&c);}
(A)a=6
(B)b=7

T
S XA Y B 1



(C)c=38
(D)d=9

10, APFFAReR Y * AP ERSRERET T Uhsds P 2
(A)Big
(B)Omega
(C)Theta

(D)2 1+ g 2t

11. 2% Job 1 ~Job 2 ~Job 3 #tF ernbursttime » %] 5 24 ~ 3~ 3> % CPU gtz
5 2 % First-Come-First-Served ;2 » BT 5 trunarount pF i 5 ™ 7| i H 7
(B | en=x B 5 Job_1 -~ Job_2 ~ Job_3)

(A)10
(B)13
(C)25
(D)27

12. F + 42 > % CPU s 4z % & ;2 4 * Shortest-Job-First ;# » p|- ¥ trunarount
2= A A
(A)10
(B)13
(C)25
(D)27

13. TIARN P T XX+l X HF 5 0% 9
for (i=1;i<=n;i++)
=N
for(k=j;i<=m;i++)
X=x+1
(A)n2
(B)2n
(C)n(n+1)/2
(D)n(n-1)/2

14. 7 B Java 3% 7 h&
(A) Java § = i - chizt i

A
o
)
ke
N
=
Y
9



15.

16.

17.

18.

19.

(B) Java ez ;8 ¥ je it T LT 23R T WWW I TR Y R i
B %R

(C)lava#2: 5 B BRenv 31t > b —F T4 F &7 B A B EY 347

(D) Java 7 43 45 #%

DBMS 245 7] ir % ?
(A)FARLE 3 12 % st
(B)F A
(Q?ﬂ&%ﬂﬁ&
(D)F 2 i st

% TCP/IP 2 ¢ vR— K (layer) f F /2 framing ?
(A)data link
(B)physical
(C)network
(D)application

Pattern-matching i/ & ;= chpf [ 4 32 & - best case p#E_O(n) > - worst case p*
AT AR 7

(A)O(2n)

(B)O(mxn)

(C)O(n*)

(D)O(lgn)

- B % & /% (algorithm)- = _&_
(A)halt in an infinite amount of time
(B)always receive input
(C)be a partially ordered collection of operations
(D)consist of unambiguous and effectively computable operations

RN dﬂz % compilation E42 ¢ % - fﬁﬁ,ﬁ% ?
(A)parsing
(B)semantic analysis and code generation
(C)code optimization
(D)lexical analysis



20. Object-oriented programming (OOP)= i £ & 4+ % inheritance, polymorphism
3T 5fRE 9
(A)Encapsulation
(B)Compartmentalization
(C)Synchronization
(D)crystallization

21. Selectionsort f#73 fin™ » HpEFFAERR 2 7
(A)O(n)
(B)O(1)
(C)O(n*)
(D)O(2n)

22. - Bty ¥ % Nbits 25 > p 2% s 5%k 5 5 SeRMlizn ?
(AN
(B)2N-1
(C)2N
(D)4N

23 TR E RS - BAIFANET P RO NIEREY 26 2
(A)Ada
(B)FORTRAN
(C)COBOL
(D)C

24. T 7w Aﬂ” % functional programming language ?
(A)C++
(B)Prolog
(C)Scheme
(D)FORTRAN

25. T 7lie % §  #3% symbolic host name = 5 32-bit IP address ?
(A)IP
(B)TCP
(C)DNS
(D)URL



$o A R B AE(X 50 A)

=

w N

4.

(10%)3++ #HTMLE XMLz xﬁaﬁ» 1%
(10%) i@ 3 Web2.0 7 38 bz p o
(109%)3- 14 quick sort¥t™ 7| #cr| 4 B » 3 7 0 FEH B o
10,18,35,12,53,9,15,19
%8-bitT *uH - &> 374210110101
(1) (5%)43% 7 "% * unsigned integer % -1 2 » H #iciE ;
(2) (5%)4-3% T "k * 2’s complement % 72 > H #)iE A m( j—u L xﬁixi%\» T)?
(3) (5%)4-3% T *adk * 1'scomplement £ 7772 » H#ic® 5 WGt 4 7) 7

BZ R
(4) (5%)4-3% T #adk * signed-magnitude # v % » B i 5 W (G 2= o7)?
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